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MEA T8 RAEREEETTOEER
EMIE 101 54 27
BUGIRSEE 403 10 5
EZE 405 406 48 24
BEE 405 24 12
BEE 406 24 12
EEE 504 54 27
FEEHEE 505 63 32
FORGEE 506 30 15
REE 701 18 9
fn=E 702 15 8
TEHEE 704~711 6 3
TEHEE 804 8 4
REEE 801 24 12
KEE 802 10 5
REE 803 24 12
fEBE 805 11 5
SEBEFE 806 6 2
ZBEMZE 300 24 12
=AU RL—LA100 30 15
<iH—IL>
HER EE RREREETTOEER
HRERKRE 200 230 100
= 201 18 9
= 202 6 3
XKAE—ILOZHAICEENEORUABETT
<EXBBEE>
HER T8 RABEEETCTOER
BEBZEE 401 402 501 502 601 5 2
SEFBE 404 605 6 3
EEHEE 503 10 5
EEHREE 703 18 9
MAT—X 6 3
BEXIAT—X 15 7




